Question 1
Question text
What is the main Reason of imbalance use of Fertilisers in India?
Select one:
A. Pricing policy
B. Unawareness of farmers
C. Non-availability of right kind of fertilisers
D. Both (a) & (b)
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Question 2
Question text
How many broad types of fertilisers (nutrients) are subsidised in India?

Select one:
a. 3
b.5
c.7

d. None of the above
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Question 3
Question text
Was introduction of Chemical fertilisers in India part of Green Revolution?

Select one:
A.Yes
B. No
C. No evidence exists
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D. Research is going on to ascertain this



